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Calcolo polinomiale

Classe prima

PRODOTTO ALGEBRICO DI MONOMI

1) (+4a)-7a)=
2) (-4a)+7a)=
3) (+4a)+7a)=
4)  (-4a)-72)=
5 (-6a)-7a)=
6) (-2a)+3a)=
7)) (+5a)+6a)=

8) —9a(2a)=

9) —9a(-2a)=
10) a-7a=

11) 6a-7a’°=

12) —-ba-6a=

13) —10a(-2a°)=
14) —9a-2a’=
15) —8a(8a)=

16) —3a(8a?)=

17) 3a(-5a%)=

18) —4a-3a’=

19) 9a(-8ab)=

20) —7a*(—8ab)=
21) —2a*-2ab=
22) —2a’h-8a‘b=
23) 3a’-8a’b=

24) +6a-9ab’=
25) (-6a)-4a’)=
26) (+5a°)-4a’)=
27)  (+5a°hc )+ 3ab®)=

28) %a(4a) =

29) + %a(— 12a)=
30) %a(— 8a’)=
31) ga2(16a2)=
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33) - §a2(16ab)=
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36) 12a(éa7)=
4
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37) —20ab (Zab c)
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39) -—10ab’c? Eazb“c5 =
15
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40) - 30a4b202(3a2b03) =
15

41) - 20b502(— ia2b203) =
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43) —2a3(—§a2bY—EaSb2)=
4 N\ 21

44) —3a3b(§a2by—ﬂa3b2)=
8 N7

45) —3a3b(Eachﬂa3b2c =
2 )\5

46) - abc(— Eazc)(gazbzc) =
11 5

47y sbe[ - —-a%b | - 2a%c? |=
25 9

48) - abc(— Eazc)(gazbzc) =
11 35
3 4 2

50 Torna su

N

I

N

I
agrliN

moo
N—

I
M|

Q
N——

I
~ | o1

QJ(JO
N—

]

Prof. La Barbera Mauro


Prodottomonomi.doc#Inizio documento

